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Date  Question 

 a. 3259 + 304 + 20365 =   b.1000 -187 =     c.987 x 100 =     d. 180 ÷ 100 = 

 a.7392 + 418 + 2708 =    b.7000 – 409 =    c.230 x 100 =     d.12 ÷ 10 = 

 a. £73.26+98p+£64.51=   b.£8 - £4.51 =   c.406 x 100 =     d.1290 ÷ 100 = 

 a. 8+£3.56+19p =       b.£30-£14.07 =     c.? x 100 = 35    d.7200 ÷ 100= 

 a.£3.25+£203.65+50p= b.£20 – 871p      c.5.76 x 10 =      d.6090 ÷ 100 = 

 a.£8.73+£123.89+79p=   b.£50-99p=     c.? x 100 = 56   d.2030 ÷ 100 = 
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Mental Strategies: multiply and divide whole numbers and decimals by 10, 100 or 1000…                                                                                                                        

x 10 jump 1 column to larger left   x 100 jump 2 columns to larger left 

÷ 10 jump 1 column to reduced right   ÷ 100 jump 2 columns to reduced right 

Ex. a) 74 x 10 =    b) 740 x 100 =   c) 4.3 × 1000,  

d) 750 ÷ 10 =          e) 250 ÷ 100 =   f) 6700 ÷ 1000  

Constant difference method opposite to aid subtraction. 

Calculation Homework – Policy on… The Redeemer Website 

Wk 1:      a.  3259 + 304 + 20365 =          b. 1000 - 187 =              c. 987 x 100 =              d. 180 ÷ 100 = 

Wk 2:      a.  7392 + 418 + 2708 =            b. 7000 – 409 =             c. 230 x 100 =              d. 12 ÷ 10 =  

Wk 3:      a. £73.26 + 98p + £64.51 =       b. £8 - £4.51 =            c. 406 x 100 =               d. 1290 ÷ 100 = 

Wk 4:      a. £8 + £3.56 +19p =                 b. £30 - £14.07 =         c. ? x 100 = 35            d. 7200 ÷ 100 = 

Wk 5:      a. £3.25 + £203.65+ 50p =        b. £20.00 - 871p =       c. 5.76 x 10 =                d. 6090 ÷ 100 =  

Wk 6:      a. £8.73 + £123.89 + 79p=         b. £50 – 99p =             c. ? x 100 =  56          d. 2030 ÷ 100 = 
 

3 / 6 / 12 times tables 
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